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Which of the given statement is wrong with respect to loamy soil?

ame g ¥ ey A QY MU wuEl F A 91 0 e 92

It contains Sand and clay

T W@ IR g e R

It is the worst topsoil for growing plants

Ig T Il & T ged T Sudt g @

It has humus in it

T g AT d

It contains silt

T T Bl @

Correct Ans : B

Subject : General Knowledge

Q.No: 2
2426919

Choose the wrong statement with reference to the religious belief of Harappan people.

T & |l B uiftfes a1 & e # TTad S o W ik

They worshipped mother goddess

q &t #F &t gen R A
They worshipped Shiva Pashupati

i R o 1 qen

They worshipped Vishnu

I gy 3 g

They worshipped Trees and Animals

U 3R FFRT Y gom A &

Correct Ans : C

Subject : General Knowledge

Q.No: 3
2426939

Select the wrong statement about Dashavatara temple out of the following statements.

FroafaRed Horl § ¥ qerear Ak $ IR # 1o SYA BT TG PR

It is a Vishnu temple.

75 75 Ry AR 31

It is located at Deogarh.

Tg SaTg # Rua &1

It was made during Chera period.

T R BT S SR ST I AT

A large number of stupas were cut out of solid rocks

Submit

GET IT ON

Google Play

Moderator loggedin.[ Logout ]


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

B FgHT 4 9t Tem  wqu $re T &
Correct Ans : C

Subject : General Knowledge

Q.No: 4 What was the name of the land tax taken by Non- Muslims in Delhi Sultanate?

2426951
faeell Seda # TR-Terawl gR1 feg e yff % &1 1 A A
Kharaj
A
R
Ushr
B
SR
Gharai
C
i
Charai
D
B

Correct Ans : A

Subject : General Knowledge

Q.No: 5  Which of the following is the only state of India to have two classical dance styles?

2427007
Frefafea ¥ 9 $F 91 YRd &1 THUE I § S8l < IR 79 fewt 82
Kerela
A
Eac
Tamil Nadu
B
afererrg
Uttar Pradesh
C
IR A
Manipur
D
AR

Correct Ans : A

Subject : General Knowledge

Q.No: 6  Which of the following dance does not require music instrument?

2427019
frofefea & & Ry e 7 arer o @ sragaedr 1Y &l 82
Ghoomar
A
T
Bhangra
B
HiTTST
Chhau
C
EED
Kummi
D
il

Correct Ans : D

Subject : General Knowledge
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Q.No: 7 Who is the first player to win a medal in Commonwealth Games?

2427500
BIATI TR H T5a 9P S AT (gt B 67
Milkha Singh
A
T Rig
Laxmikant Pandey
B
gl avsT
Rashid Anwar
(o
IRIE SR
KD Jadhav
D
F o

Correct Ans : C

Subject : General Knowledge

Q.No: 8 In which year was the first edition of the Khelo India Youth Games held?

2427505

Wl A gy 1 o1 Ugen TRl 5 9y maiferd gan ur?

2016
A

2016

2017
B

2017

2018
C

2018

2019
D

2019

Correct Ans : C

Subject : General Knowledge

Q.No: 9  The World Bank has released its 17th annual report on 'Ease of Doing Business 2020’ to 'Compare Business Regulation in 190 Economies'. Which country ranked first in the
2428890 report published by the World Bank?

fay ¥% 3 £ offs G0 faome 2020' W 3w 174 aiftie R 11990 @M # fasa WaRH &1 gemr & fau ot 3t 1 Ay 3% gR1 veifRia Ko & S19 a1 39 v ®IF )R 2

Georgia
A

Sifstar

New Zealand
B

TS

Singapore
C

g

Denmark
D

kLich

Correct Ans : B

Subject : General Knowledge

Q.No: 10 which of the following sports federations has its headquarters in Lausanne, Switzerland?
2430500
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T8 1 1$HH WIC 1SR B YA JHH, RIoRAUs H TR¥Yd 82

International Basketball Federation

A

RIS e SR

International Cricket Council
B

RISH fipdpe PR

International Table Tennis Federation
C

arRigta 2w v trekae

International Badminton Federation
D

SIS SSfie hevee
Correct Ans : C

Subject : General Knowledge

Q.No: 11  When was the Credit Information Bureau formed?

2434050
P TR RN F1 T84 H a1 T ?
2000
A
2000
2005
B
2005
2010
C
2010
2016
D
2016

Correct Ans : A

Subject : General Knowledge

Q.No: 12 Where is the Triveni Museum situated in Madhya Pradesh?

2441039
He e ¥ Bl Woerery wEl R 82
Sehore
A
R
Vidisha
B
fafe=m
Khajuraho
Cc
T
Ujjain
D
I=

Correct Ans : D

Subject : General Knowledge

Q.No: 13 Where is the Raja Mansingh Tomar Music and Arts University situated?

2441054
T HARTE AR Iid Ud Han Ayl oef R 82
Bhopal

A
i
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Jabalpur

STeTgR

Gwalior

IR

Indore

Correct Ans : C

Subject : General Knowledge

Q.No: 14 Habib Tanvir is an eminent -

2441076
gledrR e werd_ ¥-
singer
A
TaH
playwright
B
ACHFPR
craftsman
C
RrieweR
violinist
D
AR aeE

Correct Ans : B

Subject : General Knowledge

Q.No: 15 Which of the following towns is said to have once been ruled by Mahabharata’s Shishupal?

2441355
Frofafea # 9 59 w6 R el o § & Fi 7ervRa & R o1 e are
Chanderi
A
kGl
Mandu
B
g
Ujjain
C
Eiek|
Khajuraho
D
TR

Correct Ans : A

Subject : General Knowledge

Q.No: 16 Which of the following cities had witnessed the legendary romance of Rani Roopmati and Baaz Bahadur?

2441375
FrafifEa & 9 g weR A T TurEdt iR 9 T1gR $ IRt SuIr B 3 uT?
Bhopal
A
fiarer
Khajuraho
B
TR

(o Mandu
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g
Maihar

AR

Correct Ans : C

Subject : General Knowledge

Q.No: 17 MP Investment Facilitation Act was enacted in which year?

2441647
wodt A glawrawor sifdfay e of sttt fasar mr are
2006
A
2006
2008
B
2008
2012
c
2012
2015
D
2015

Correct Ans : B

Subject : General Knowledge

Q.No: 18 Which of the following sugar mill is not located in the district of Indore?

2441656
a3 3 @ A i 81 o 3 R et @2
Neori Khandsari Sugar Mill
A
a8 weur TR e
Girdharilal Sugar And Allied Industries
B
R IR €S Sags S8
Shiv Khandsari Sugar Mill
C
g gsurdt TR fre
Mahakaushal Sugar and Power Industries Ltd.
D

TR R U8 U S50 Riftics
Correct Ans : D

Subject : General Knowledge

Q.No: 19 Where is the Japanese Industrial Township being developed in Madhya Pradesh?

2441669
Aoy U 7 ST Shehfire e wet s fia 3t o @ 2
Shahdol
A
S
Burhanpur
B
TEAR
Pithampore
C
g

D Sehore
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R

Correct Ans : C

Subject : General Knowledge

Q.No: 20 In which year was the Department for Promotion of Industry and Internal Trade (DPIIT) established?

2441683
FENT SR sffae R Gaef faumT (DPIIT) 3} wire e oy 9 718
1980
A
1980
1988
B
1988
1995
C
1995
1999
D
1999

Correct Ans : B

Subject : General Knowledge

Q.No: 21 Reema used to drink the untreated river water and was diagnosed with a water-borne diseases, botulism as she shows these symptoms-

2422815
Qe erguERa 72t @1 arFh dielt o R IR Ui & B areht AR, SiefieH B udl T o1 s a8 571 weol & gl -
Bottle like neck
A
I Y TG T
She can see bottles everywhere
B
T & W Wi 5 T §
Dry mouth, blurred vision and difficulty in swallowing.
C
T e, el = ok et & )
Ear canal swells and become bottle-shaped.
D

P 6% Yo Sffell & AR et & SR 6T Bl Sffell 31
Correct Ans : B

Subject : General Science

Q.No: 22 The waste released by textile industries, paper mills and paint manufacturing industries consist of certain harmful heavy metals such as

2422821
HUST YN, YR frell &R G Fufor Il gR1 818 1Y F A $o gidRS UR Uil 81 & S
Arsenic, nickel and cadmium
A
Irfe, fa IR Hefiam
Sodium, potassium and calcium
B
W, drefmw oR S
Chlorine, fluorine and cadmium
C
FIRH, TR SR P
Calcium, xenon and argon
D

feamm, R iR s

Correct Ans : A

Subject : General Science

Q.No: 23
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2422824 Drinking water is necessary because:

W &1 urlt e § i
It helps us to keep our body hydrated.
A
T8 FAR TR P 3153 ve § gl Heg wRan
It helps us in digestion of food.
B
a5 o e & U § Heg B B
It helps us to get rid of cold
C
Tg g el A ear1 UM & Heg Hal €
It helps us to wash our hands.
D

g TH 30 T 41 ® Heg HRar 3

Correct Ans : A

Subject : General Science

Q.No: 24 What lays eggs in waterlogged places?

2422986
SRR AT R F 3 B 3 §2
Frog
A
Gy
Mosquitoes
B
Ty
Snake
C
t
Lizard
D
ot

Correct Ans : B

Subject : General Science

Q.No: 25 The prominent symptom of dengue is
2422991

ST BT THE T Bl

Backache
A
s g
Fainting
B
Bl
Pain in eye socket
9
HEF AP A
Diarrhea
D
E15)

Correct Ans : C

Subject : General Science

Q.No: 26 AIDS stands for-
2422994

AIDS &1 Hae g?

A Actively Inactive Decor System
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wfFeadh $fdea SpR Rien

Acquired Immuno Deficiency Syndrome
B

TES T R Righ

Adrenaline Intermittent Deficiency System
c

TSRS SR AT Hoelt

Acne Inactive Defect Syndrome
D

T TR Rt Rigm
Correct Ans : B

Subject : General Science

Q.No: 27 The explosion of fruits that are the dispersal of seeds, by being thrown away from the mother plant. This condition is easily observed in which plant?

2428010
TR wie § R P o1 & diell F forew et whelt 1 favwpie ) a5 Rufd frg i # s & S ol 22
potato
A
S
dandelion
B
Rigudff
tomato
C
THIR
pea
D
HqX

Correct Ans : D

Subject : General Science

Q.No: 28 Which among the following is the member of group dicotyledons?

2428024
Frofafea & @ 1 o g o1 vew 32
mangoes
A
S
corn
B
HIDT
wheat
(o)
b
bran
D
==

Correct Ans : A

Subject : General Science

Q.No: 29  Who gave three kingdom classifications?

2428778
i arrsy wifawo g feare
E.H heckle

A
{. . od

B R.H. Whittaker
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SRTT TFeaR

Carolus Linnaeus

Cc
e Rifem
Aristotle

D
S

Correct Ans : A

Subject : General Science

Q.No: 30 Arrange these in increasing hierarchical similarity.

2428799

5% agdl 8 dofte wHET A e FR¥

kingdom, phylum, class, order, family and genus
A

e, €, &, #éw, TRaR ok o

kingdom, order, family, species, genus
B

genus, order, class, species
C

S, sy, T, wenfoat

genus, order, division, class, order and species
D

W, s, fdiem, T, SifeR S venfoat
Correct Ans : A

Subject : General Science

Q.No: 31 radiation is used in electric water filters to kill all the harmful microorganisms present in tap water and make it absolutely safe for drinking.
2429000
e % T # Fig o s Re gl S AR SR U & g ¥ v WRfaa s & i el & orl & feeer & fafepvuor &1 ST e S 3
Infrared radiation
A
e fafdor
Gamma radiation
B
T fafRor
Visible radiation
C
T fafdor
Ultraviolet radiation
D

RISTH fafRor
Correct Ans : D
Subject : General Science

Q.No: 32 Which of the following options is correct regarding the wounds on the body washed with salt solution? Why?

2429002
e % I ¥ €Y MY TRR W e & way F o § S o @ e w3 8 @i
To remove the blood content in the wound
A
a & G P U B R FA F
For blood clotting
B
T P o S R
To destroy germs
C

BT B! g HA & forg
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To joint the bones

B! ot g™ & R
Correct Ans : C

Subject : General Science

Q.No: 33  Which one is different from the following diseases like Pneumonia, diphtheria, chicken pox, and cholera?

2429015
ot & o w I e, e, fe oie ok g o dmiat & o 82
Pneumonia
A
e
Diphtheria
B
et
Chicken pox
C
ot ofet
Cholera
D
e

Correct Ans : C

Subject : General Science

Q.No: 34 The swelling up of the dough for making bread isdueto by yeast.
2430045
I T & R ane F YoH THR FRI___ & SRS B
Fermentation
A
o
Fungi
B
PIDP
Anaerobic respiration
C
ST 4T
Aerobic respiration
D

RfE 5o
Correct Ans : A

Subject : General Science

Q.No: 35 Which one of the following is not the place of TamilNadu harnessing wind energy from windmills?

2430076
Frefafed & § $9-91 aftferrg 1 ®M 761 8, S U7 Ifdndl & Uad ol &1 ST Hdl 82
Aralvaimozhi
A
SR
Kayathar
B
AR
Pallamadi
C
TewHrST
Kochi
D
i

Correct Ans : D

Subject : General Science

GET IT ON

Google Play
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Q.No: 36 Pointing to a photograph a man said,” I have no brother or sister but that man’s son is my grandson’s father”. Whose photograph was it?

2422452
TP TR B 3R IR PR gU T SMGH! 7 FoT, “BRT P15 HIS A1 61 961 & Wb S SMGH! PT 9T X UKt 1 firewm 371 et wieh am?
His son’s
A
T
His father
B
I fiar
His nephew’s
C
I Hallell
His own
D
BT ST

Correct Ans : D

Subject : General Reasoning

Q.No: 37 Rahul, Riya and Raja are in a house. Rahul is Raja’s son and Riya’s maternal uncle. How is Raja related to Riya?

2422474
g, Rar ol o T W H E1 g e o g 3R far o amn g1 3, foan § 5w uer geid g2
Maternal grandfather
A
GG
Paternal grandfather
B
<Tar
Maternal uncle
C
HMH
Father
D
forar

Correct Ans : A

Subject : General Reasoning

Q.No: 38 Find the wrong term in the series?

2422587
0, 3, 8, 15, 27, 35, 48
gl | TTed S PT Ol TI?
0,3, 8, 15, 27, 35, 48
15
A
15
35
B
35
27
[
27
48
D
48

Correct Ans : C

Subject : General Reasoning
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Q.No: 39 Find the wrong term in the series?

2422607
210, 195, 175, 150, 120, 90
§ga § e A BT el TTL?
210, 195, 175, 150, 120, 90
210

A
210
920

B
920
175

C
175
150

D
150

Correct Ans : B

Subject : General Reasoning

Q.No: 40 Find the odd word out.

2424512

ST T BT TG BIAY

Autocracy
A

e

Diplomacy
B

Eeiin

Democracy
C

GTE]

Theocracy
D

e

Correct Ans : B

Subject : General Reasoning

Q.No: 41 Find the number of triangles in the given figure.

2425646
T 3l # Biyw 9 Fen J1d Sk
19
A
19
18
B

18
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C 17
17
16
D
16

Correct Ans : B

Subject : General Reasoning

Q.No: 42 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.

2426293
ABCD : WXYZ :: EFGH : ?
I SHER-GUE BT TG BN ol R 3HeR-E A I TR Fald § Y GO 31eR-TE, T S1aR-9vg ¥ Weifdd 3
ABCD : WXYZ :: EFGH : ?
STUV
A
STUV
SsTOU
B
sTOU
STUE
C
STUE
TSUV
D
TSUV

Correct Ans : A

Subject : General Reasoning

Q.No: 43
2426393
3W TEAT [fAheT T 99 HY S SO FE ¥ 3 THR TEOd § S @l TEAr ggen
& ¥ et 2
1:-1:22:7
4
A
4
B
2
3
C
3
5
D
5

Correct Ans : B

Subject : General Reasoning

%;'\‘2"6: 44144 Select the option /number which is related to 31 number in the same way as 224 number is related to a
1t number?
2:32%a:?

3 TEAT /AFeT F 997 HT A HY TS F 36 TSR Fo O § S g0 T&A T8l
e @ wefea & |
2:32%a:?

A a2
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Correct Ans : C

Subject : General Reasoning

Q.No: 45 In the given diagram, Circle represents places in mountain, Triangle represents places with heavy rainfall and Rectangle represents places in desert.

2426558
10 15 18
17 9 6 14
U
How many places are in mountain with heavy rainfall?
fou g e B, a0 udd & Wl o1 vl et 8, Biye 4 ot 9 R 61 i S @ iR smd R 3 wiE 31 ufafire S g
10 15 18
17 /9 /e\ 14
13
YR 39 gt geal # fe ®IF 82
15
A
15
30
B
30
6
C
6
14
D
14

Correct Ans : C

Subject : General Reasoning

Q.No: 46 The diagram represents the likes of Students of a class.

2426603
“ Mango

¢)

T

Orange

Pineapple

What is the difference between who likes Pineapple and Mango?

SR TF Hefl & BT 1 0E BT WAl FHar g1
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8
A

8

12
B

12

3
C

3

11
D

11

Correct Ans : B

Subject : General Reasoning

Q.No: 47 Select the option that is related to the third term in the same way as the second term is related to the first term.

2429534
DHLP : HMHK :: EJOT : ?
I fadhed T 709 B3 S R U I I PR Gaflia § SR IR US U Ug 9 Hefia 71
DHLP : HMHK :: EJOT : ?
LIKL
A
LKL
I0KO
B
I0KO
LIKO
c
LIKO
I0KJ
D
I0KJ

Correct Ans : B

Subject : General Reasoning

Q.No: 48 ] is the daughter of I; H is the brother of I; G is the sister of H; K is the brother of J. How is H related to K?

2429573
LIBEE H, IFUER; G, HA T E; K, I 31 i 1 H, K F 59 vor gaftm &2
Mother
A
HIdr
Father
B
ot
Aunt
C
e
Uncle
D
AN/ A%/ HHT

Correct Ans : D

Subject : General Reasoning

GET IT ON

Google Play
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Q.No: 49 Which answer figure will complete the pattern in the question figure?
2433195

.
Py ~

!

Correct Ans : B

Subject : General Reasoning

Q.No: 50 Identify the figure that completes the pattern.

? <\/>>D
ST

I S B UgaH B S U B G Bl 81

? +D
SAARLs

3
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-

=

Correct Ans : B

Subject : General Reasoning

Q.No: 51 - gelect the option that is related to the third number in the same way as the

2434 ;
S8838 second number is related to the first number.
1.1 .1,

— il l?
11 121 9

3 e &1 T BT S R AT J 34 IR e & Sy qadr T,
ol TEAT Y T td gl
1.1 .1,

— il llz?
11 121 9
1

81

100

Correct Ans : A

Subject : General Reasoning
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Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440180 ¢ [ogically consistent with the main statement.

If I eat healthy, I will live healthy
A. I ate healthy

B. I lived Healthy

C. I did not eat healthy

D. I did not live healthy

U 1T yy F 81 FuA AR I9F 918 TR B &1 FYA BT Boftid g g, 8T Ugd FYH B aed G Y 9, SR & Ty b T § g $YF § 9 g
R & W WG, @ H @R W

AT @ g

B.H W g1 U

C. H7 @ 77 @

D. A e el g oA

AB
A

AB

BA
B

BA

DA
C

DA

CD
D

CD

Correct Ans : A

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440212 0 [ogically consistent with the main statement.

If the capital is shifted, the people will face difficulties
A. the capital was shifted

B. the capital was not shifted

C. the people faced difficulties

D. the people did not face difficulties

foT U 9y § g7 o SR I9F T1C AR BYA §1 FUA! 1 B I I, SeT T80 HUF BT A gk B § B, R T T e wU 9 781 HUF I 9 3
T e g€ a1 dntt e

A. Y BT RIFRG B forar ot

B. IS &1 RIFART g1 a1 T o1

C. Tl Y BTN BT AHAT HAT IS

D. TN I HISTLAN BT AT TeI BRAT UST

AC
A

AC

BC
B

BC

DA
C

DA

cD
D

cD

Correct Ans : A

Subject : General Reasoning
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Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440259 e Iogically consistent with the main statement.

If Government imports sugar, the prices will come down.
A. Government imported sugar

B. Government did not import sugar

C. the prices have come down.

D. the prices of sugar have not come down

U 1T vy F T FUA AR TP 91 IR B & | FUHT BT BT I T, TET Ugd FH B aed GR Y G B, IR € F il T Y g1 $YF W B
SR TRER I BT ST BT 8, O Hioal § S g

A. IR 7 I T ST foar

B. PR A I 1 S et far

C. FiFd H P 3 B

D. 9 & g Hu T gu 8
BD

BD
BC

BC
DA

DA
DB

DB
Correct Ans : D

Subject : General Reasoning

Q-No: 55 Select the option that is related to the third term in the same way as the second term is related to the first term.

2441953
CO:HU::TG:?
34 fached 1 75 ¥ St R ug I St UBR Tafla ¢ O TPR gERT Ug Ugd Ug I el § |
CO:HU::TG:?
YN
A
YN
XN
B
XN
YM
C
YM
XM
D
XM

Correct Ans : C

Subject : General Reasoning

Q.No: 56 Simplify: 3690—100+20 x 3
2422337

WA BINE 3690 — 100+20 X 3

A 3675


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

3675

3574

3574
3674

3674
3784

3784
Correct Ans : A

Subject : General Maths

Q.No: 57 Simplify: 65 —[39+{41-(5+2)}]

2422362
WA BN 65— [39+ {41 (5 +2)}]
8
A
B
7
-8
C
-8
9
D
9

Correct Ans : A
Subject : General Maths

Q.No: 58 Sandeep deposited Rs.5390 with a finance company for 2 years at an interest of 8% per annum. What is the compound interest that Sandeep gets after 2 years?

2423599

TIT A v fad FO & WY 2 T & T 8% Ui 9§ F s W 5390 T A Ul W B 2 9 &g i Twefs s e 82

Rs.125.38
A

Rs.125.38

Rs.145.77
B

Rs.145.77

Rs.178.78
C

Rs.178.78

Rs.896.896
D

Rs.896.896

Correct Ans : D

Subject : General Maths

Q.No: 59 1

2423614 DPriyanka took a loan of Rs.31200 against her insurance policy at the rate of 95% per annum. Calculate
the total compound interest payable by Priyanka after 2 years.

IR 31 ¥ 31200 SR @ 9296 AT &R I ST AT RN 25 Fyeeh amof foremy it w 2 e
& 916 & Hl T I SIS eh AT |

A Rs.1230.76
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Rs.1230.76

Rs.2345.21

Rs.2345.21
Rs.898.62

Rs.898.62
Rs.6209.58

Rs.6209.58
Correct Ans : D

Subject : General Maths

Q.No: 60 Solve:
2428579

{25% 25 - 24 x 24 + 6 x 6 + [50 x 10 - 50 0f 5 - (25 x 5 + 22 x 2)]}

Bﬂiﬁ:

{25% 25 - 24 x 24 + 6 x 6+ [50 x 10 = 5 FT 50- (25 x 5 + 22 x Q}

160
A

160

166
B

166

165
C

165

163
D

163

Correct Ans : B

Subject : General Maths

Q.No: 61 The batting average for 40 innings of a cricketer is 60 runs. If his two innings are excluded the average of remaining 38 innings is 55 runs. Then the sum of these two innings
2432519 g

TS fhdex F 40 IRET HT geaiaml 9 60 I T1 AR IWST <) Uil 3 Bis < o A 38 UIRE! BT ik 55 7 &1 1 37 <1 uIival &1 9w 82

300 runs
A

300 ¥

280 runs
B

280

310 runs
(9

310

260 runs
D

260

Correct Ans : C

Subject : General Maths

Q.No: 62

2434685 \What is the HCF of (" +49*(x=3)® apd (- D+ H(x-3)%

(x4 9(0- 38R (- V(v + 41 -3 BT TETH THIGAD a7 22
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(x+4)(x-3)°

(x+4)(x-3)*

(+4)(x-3)
B
(x+4)(x-3)
(x+4)3*(x-3)
C
(x+4)*(x-3)
(x-D(x+4)(x-3)
D

(x=-D(x+4)(x-3)

Correct Ans : A

Subject : General Maths

Q.No: 63 1
2434735 x+==3 X"+ —3

If " x 7, then X

x~;=3’(_h x8+xi3=’

4722
A

4722

4922
B

4922

492
C

492

49242
D

49242

Correct Ans : A

Subject : General Maths

Q.No: 64

1] _ L
2434765 ppx- H ~ 9, then find the value of (x — 7)3 — (x-7°

gfg*- H =9%,a‘f(x—7)3—ﬁ$mﬁ$ﬂﬂﬁl

18
A

18

3
B

3

6
C

14
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14
Correct Ans : D

Subject : General Maths

Q.No: 65 If the selling price is doubled, then profit become tripled. Therefore, profit percent is

2435210

o fawa Hea ST 3 fear wme @y 9 T 8 o €, 99 uiawid gem

66 %
A

662 %

100%
B

100%

105§ %
C

105% %

120%
D

120%

Correct Ans : B

Subject : General Maths

Q.No: 66 If the difference between 15% loss and 15% gain is Rs. 450, then the cost price is

2435230
IR 15% T SR 15% BT BT <R T, 450 T, A $T A ¢
Rs. 1,500
A
3. 1,500
Rs. 2,000
B
3. 2,000
Rs. 2,200
c
3. 2,200
Rs. 1,200
D
3. 1,200

Correct Ans : A
Subject : General Maths

Q.No: 67 Akshay bought an air conditioner having list price of 35000 at 20% discount. If shopkeeper offered an additional discount of 4% on paying cash then what is the amount paid
2435290 py akshay to buy air conditioner by cash payment?

3&rd 3 35000 YA Gel Yl a1l U TR SR 20% P W @del| A gHHER 7 Febg YA W 4% B AR e WarH S, dF e gRI Fhe YT W TR T TR SR o1 e Jid

Fifog?

Rs. 26880
A

26880 ¥Uq

Rs. 22540
B

22540 IW

Rs. 28420
c

28420 ¥1d
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D KS. 2450V

24360 W
Correct Ans : A

Subject : General Maths

Q.No: 68 _1_,
2437468 oo7 is equal 10

o R E:

14.29

14.29
13.44

13.44
10.03

10.03
70.5

70.5
Correct Ans : A
Subject : General Maths

-No: 69 7511 13, .
(22437433 Armange ;,§ T “”dﬁ in ascending order.

Zi5 ¥R Bl ARG Y FEREEIRG

@ lv

Correct Ans : B
Subject : General Maths

.No: 70 . . — _ _
(224307548 The right expression of ¢.-16 in the fractional form is:

e U H 6. 16 31 I A | g?

A 646
99
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646
99

64640
1000

64640
1000

640
100

640
100

640
99

640
99
Correct Ans : D

Subject : General Maths

Q.No: 71 If in a symbolic language ‘SISTER' is written ‘RHRSDQ’ then ‘UNCLE’ will be written in the same language as?

2422537
afe; ot o rer & 'SISTER' B 'RHRSDQ' feraT STl € o 'UNCLE' &1 It w1t & forar smam foredi?
TMBKD
A
TMBKD
TBMKD
B
TBMKD
TVBOD
c
TVBOD
TMKBD
D
TMKBD

Correct Ans : A

Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘SIR’ is written ‘PSPIPR’ then *MAN’ will be written in the same language as?

2422567
oS ot Wishfas o & 'SIR' &1 'PSPIPR' @l ST dl “MAN' @1 I wiwn H feran s frad?
PMANP
A
PMANP
PMPAPN
B
PMPAPN
NANP
C
NANP
NGOD
D
NGOD

Correct Ans : B
Subject : Mental Ability
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Q.No: 73 T a row of 30 trees, Mango tree is 13% from right end. Then find the rank of Mango tree from left end.

2425585
30 BE B U Ufd] F oM 7 U8 g BR W 138 ®IMA W g1 9 9 BR ¥ o o1 U8 ol ¥$ 71 DI
17
A
17
16
B
16
18
c
18
15
D
15

Correct Ans : C
Subject : Mental Ability

Q.No: 74 If PALAM could be given the code number 43, what code number can be given to SANTACRUZ?

2426503
I PALAM &Y Fe BT 43 & S Gacht 3, A SANTACRUZ & &9 H e T8 €t ff Iaeht 82
75
A
75
85
B
85
120
C
120
123
D
123

Correct Ans : D
Subject : Mental Ability

Q.No: 75 Ifin a certain language, TRIANGLE is coded as SQHZMFKD, which word would be coded as DWZLOKD?

2426533
af& T fAfYd o ¥ TRIANGLE, $Y SQHZMFKD, % &9 § ifsd faram S §, <t o5 rsg $1 DWZLOKD & w1 & $ifsd fawar smem?
EXAMPLE
A
EXAMPLE
FIGMENT
B
FIGMENT
DISMISS
C
DISMISS
DISJOIN
D
DISJOIN

Correct Ans : A
Subject : Mental Ability

Q.No: 76 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at
2430218 yariance from commonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statement: The distance of 400 km by road between goa and Haldia will be reduced to 180 km by sea. This will lead to the saving of Rs. 3.92 crore per annum on fuel.
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Conclusions:

1. Transportation by sea is cheaper than by road.

II. Fuel must be saved to the greatest extended.

Froforaa w7, <1 HuF < AR 1, 11 37 SFRR0T SR § ST EFT HUHl W TR S 89, 4o @ § amidR | 31 aull & welld 89 @1 simuet g Ry e wue % 9fg e g At St 35
£

Py T IR gl ¥ d wse anf § 400 B Bt g8, 995 & g1 180 5 7w &) weh S oA W wfa 3.92 ¥ U @t w=a gl
frsn:

1. 99 gR1 aRkag goe Anf & T 2

11. $oF 31 w1G1 § A& S=ET Ao

Only conclusion I follows

A
Fad ey 1 SR FRar §
Only conclusion II follows
B
e Py 11 SERR0 SR §
Either I or II follows
C
Al I 41 LT SR el &
Neither I nor II follow
D

T 1 SR T 1T TR BT §
Correct Ans : B
Subject : Mental Ability

Q.No: 77 1In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at
2430247 yariance from commonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: The selectors may select a candidate who neither possesses the highly qualifications nor the values.
Conclusions:
I. The inclusion of selectors on the panel does not guarantee that selection will be proper.

II. The interview test has many limitations in the matter of selection.

Frofafea ust #, § T Q) FsHy 1, 11 3T SR R § SAID ST YA TR IR S 8, 4 @ 9 SdR W 31 ail § Uedid 81 @il 3us! 5 few T wue & afg feed 81 dt St 9am
R

FU: TITRA T SHIGAR HT T4 F= G ¢ o UG 7 al S aRgad gl 9K 7 8 Je
frme:

1. oGt S A B i ST 39 919 31 TR T S 5 77 Ifa g

1. T & AHd A W R uden 8 3% 9l 81

Only conclusion I follows

A
e Frepd 1 SR Bl &
Only conclusion II follows
B
Paa Iy 1T SR HRaT §
Either I or II follows
C
A I TT LT SRV R &
Both I and II follow
D

I 3R 11 €F SR Rl §
Correct Ans : D
Subject : Mental Ability

Q.No: 78 In question below are two statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance
2435460 fom commonly facts and then decide which of the given conclusions logically follows from the given statements.

Statements:
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I. No bat is balls.

II. All balls are rackets.
Conclusions:
I. Some bats are rackets.

II. Some rackets are balls.

=1 3w T vy & <) 5o SR 9P a1E < e 18R 11 Ru w1 suet few T e 9 W AT ], 918 A ERe: 91t 3 i el g 8, s fofa e @ 6 i e e § 4 o
1 e @i T & SRR e B

U
1. BE 91 ool gl
1. o Sfa e 8
e

1. § Sl I¥e g
11. $B Y 919 8

Only conclusion I follows.

Paa Ty 1 SR T B

Only conclusion II follows.

P ey 11 SeR0 Bl 1

Both conclusions I and II follows.

Bt sy 1 @R 1T SRR R B

Either conclusion I or II follows.

T < e 17 I 3R FRe B
Correct Ans : B

Subject : Mental Ability

Q.No: 79 In the following question, some statements followed by some conclusions are given. Taking the given statements to be true even if they seem to be at variance from
2435520 commonly known facts, read all the conclusions and then decide which of the given conclusions logically follows the given statements.

Statements:

All writer are doctor.

No doctor is painter.

Conclusions:I. Some writers are painter.

II. No writer is painter.

Fufifed vy ¥ $9 F3 & 91 F ey fau e F) 3T T S S I O gU geil 9 I i adt & i vdia 8 81wl el ) g ol iR ok & 5 1 an fred e e s
BT AHUNT ¥ Y SR Bl g1

HU:
1. 9+ s, Rafees 31

2. 3 fafrws, REeR 76 31
e

1. $© 9uF, fEeR

I1. B3 o, REPR T8 7
Only I follow

P I ST el 81
Only II follow

Had 11 SR el B
Either I or II follow

1A I 97 1T TSR0 Bl 2

Neither I nor II follow

T I 1T SR PRl 8]

Correct Ans : B
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Subject : Mental Ability

gi‘ggs?B In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statement:
T>0=I>L=D
Conclusions:
I.D<T
I.D=T

fAFAfafd e &, FUat & arg fased g e §)

TEU 3T =T & HTUR T TASh a7 7egget B A 379+ 3ol & &9 & 39gad fadhed B T8 B
U

T>0=1>L=D

forsad:

IL.D<T

IL.D=T

Only conclusion I is true

A
Fa e 1w §
Only conclusion II is true
B
oo I va s
Either Conclusion I or II is true
C
APl I A va
Neither conclusion I nor II is true
D

A1 RTRIITTR
Correct Ans : C
Subject : Mental Ability

%"\:1;358614 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
P>T>Q<R<S
Conclusions:
I.P>Q
I.LP=2R

fafafea e &, Fe=l & arg ey G e g

T 1T &l & MR TR Ay &7 Heqga w3 AT oo & &9 A 39gad [daed o a4+ Fi
FU

P2T>Q<R<S

forsad:

LP>Q

ILP = R

If only Conclusion I is true

A
FaaFref 1 9@ §
If only Conclusion II is true
B
Faa P 11 79 ¥
If either Conclusion I or II is true
C
1 3t Y 191 11 9 B
If neither Conclusion I nor II is true
D

TRfefrdRTSITa s

Correct Ans : A
Subject : Mental Ability

O O N T S X S O S S
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Q.No: 82

LI UIT IUHUVITIY UTIUIUI, UIC SLALTHITIHLW al T 1UHUYWEU Uy LUTILIUDIVIID. JLUUY UIT LUIILIUDIVIID UadTU Ul Uic yivanl

2438593 statements and select the appropriate option as your answer.

Statements:
A<B<C<D=E
Conclusions:
B<E

B<E

fAFafafea e &, Feel & arg ey QU 7w §

T 97T FUT & HUR R w7 37209+ o AT 39 3ec{ & §9 & 3G90 [q@med & 997 F
Fue

A<B<C<D=E

forssd:

B<E

B<E

Only Conclusion I follows

Eraircad hin

Only Conclusion II follows

Fad ey 11 94§

Either Conclusion I or II follows

TRl o aas

Neither Conclusion I nor II follows

Tafef I dRTHIIvT R

Correct Ans : B

Subject : Mental Ability

Q.No: 83

In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance

2439079 tom commonly known facts. You have to decide which of the given conclusions, if any follow from the given statements.

Statements:

All books are boxes.

All boxes are banks.
Conclusions:

I. Some books are banks.

II. All books are banks

A T T vy B o 7T I U @ ey 191 I RY T R 1 Sues) T T Hu Y 9 WA, M & 98 TdRa 9l § e Tl S € aT ol & SR TR STUeT ORI SR A |
U

Tt e s 31

ol 71 §F ¢

frsn:

1. $O fae 3% g

11, W fad 8% 7

Only conclusion I follows

Fad ey 1 SFERT FHar §

Only conclusions II follows

g Prepd 1T SFeR ST §

Both conclusions I and II follow

it e 1 3R 11 SR 31 7

Neither conclusion I nor II follows

T e 1 3R T € 11 SR R B

Correct Ans : C
Subject : Mental Ability
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Q.No: 84 Arrange the following words in a logical and meaningful order.
2442666

1. Child

2. Marriage

3. Infant

4, Employment

5. Education

Frofifea vl &1 1 aifde wa sifqel ®a # erafm Fifm)
L. &&=
2, faame
3. Sqd
4, ISR

5, fRran

4,1,3,5,2

4,1,3,5,2
3,1,5,4,2

3,1,5,4,2
3,5241

3,52,4,1

5,2,4,1,3

5241,3
Correct Ans : B
Subject : Mental Ability

Q.No: 85 Arrange the following words in a logical and meaningful order.
2442675

1. Ploughing up the field

2. Bread making

3. Production of wheat

4, Wheat grinding

5. Sowing the seeds

6. Dough making

Frafafaa wsal @ byl aur e w0 ¥ eafla sif:
1. 9 31 A

2. A& T

3. g 1 SAEA

4, Og g

5. &

6. 3HTeT AT

1,5,3,4,6,2

1,5,3,4,6,2
2,53,4,1,6

2,53,4,1,6
1,5,3,6,4,2

1,5,3,6,4,2
4,5,2,6,1,3

4,5,2,6,1,3
Correct Ans : A
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Subject : Mental Ability

Q.No: 86 Which of the following is divisible by 4?

2427589
Frafafea & 4 o 4 3 v &2
2362
A
2362
7422
B
7422
5524
c
5524
3761
D
3761

Correct Ans : C

Subject : General Aptitude

Q.No: 87 The difference between an internal angle and an external angle of a regular decagon is?

2431327
TP 10 Yol It At SgYs & I=1: D10 G 16T HI0l B SfeR fba1 gime
A 108 degree
108 fo7it
B 120 degree
120 f&h
c 132 degree
132 f&h
D 144 degree
144 T&h

Correct Ans : A
Subject : General Aptitude

Q.No: 88 If an airplane Covers a distance of 980 km in 35 minutes. then what time it will take to cover a distance of 1470 km.

2435974

I T a8 wie 35 fiFe # 980km B gl T FRAT 7, A 98 1470 km B G T FA H e wwa

%hours
A

1

2

12 hours

8

B "

g e

? hours
Cc 8

7,

8

12 hours
D 6

12 &

6
Correct Ans : C

Subject : General Aptitude

Q.No: 89 A car travels 80 km in 2 hours and a train travels 180 km in 3 hours. The ratio of speed of the car to the train is-

2436004
U HR 2 g0 F 80 el &) am el § iR uw Y@ 3 wed & 180 e 9 wnn ot §1 9% Y Yot A 91 1 S @ 87
2:3
A
2:3
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3:2
3:4
c
3:4
4:3
D
4:3

Correct Ans : A
Subject : General Aptitude

Q.No: 90 A car moving in the morning fog passes a man walking at 4 km/h. in the same direction. The man can see the car for 3 minutes and visibility is up to a distance of 130 m.
2436013 The speed of the car is:

YE F PIeX & T §S U FR I famn & 4 5. /vy B 9 § dd 99d g UH offer Y UR Rl 31 oret 3 e 9% BR $ & Wahdl § U BleX F BRUT pad 130 HeR 1 g 9@
T A IS 81 R B 90 7 52

5.5 km/h
A
5.5 f&.ah. /der
6.6 km/h.
B
6.6 fop. 5. /der
7km/h.
c
7 T4, rdfer
5km/h.
D
5 f. . /der

Correct Ans : B

Subject : General Aptitude

.No: 91 - : - ' - .
(224305017 Walking at g of his usual speed, a person reaches his office 20 minutes late than the usual time.

His usual time in minutes is:

U giFd A9 g g fr %ﬁﬂﬁwmgmwammﬁzo ﬁﬂtﬁ'ﬁﬂ'qéw%lmqéﬁfﬂ
3T A § g AT &

25

25
30

30
20

20
40

40
Correct Ans : B

Subject : General Aptitude

Q.No: 92 Train A and B start at the same time. Train A travels at 55 km/hr from station X to station Y and train B travels at 80 km/hr from station Y to station X. They cross each other
2436051 ter 1 hour and 36 minutes. What is the distance (in km) between station X and Y?

T A SR B U@ & I § T Bl 81 37 A RIA X A RIA Y ad 55 .. /6er 3 7y 3 3 amn a=et § SR ¢ B RIA X 9 3t gr 80 .1, /8er 35t i § ot 81 3t W 3R 36 e &
1 U G B! UR Fl 71 WA X 3R ¥ & ol g (A, §) s @2

196

196
B 232
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232

240
C

240

216
D

216

Correct Ans : D
Subject : General Aptitude

Q.No: 93 A and B together can do a piece of work in 12 days. While B and C can do the same work in 16 days, A work 5 days. B work 7 days and remaining work finish by C in 13 days.
2436073 How much time will A take to complete the 60% of the work with 40% of his efficiency.

A 3R B fraaR et orf 31 12 o & 5iafd B oiR ¢ R S s ot 16 RA A aR Gwd 81 AS 5 TRA B A 7 RRF H qut € 7 13 7 1 e Ff GuTed Foeell §1 TAIRT A UL &Tal &
40% ¥ BRI B 60% HIT B fba T B - TR Fm?

35 days
A

35 A

24 days
B

24 &7

20 days
C

20 &7

18 days
D

18 f&

Correct Ans : B
Subject : General Aptitude

Q.No: 94 A can finish a work in 7 days. B can finish the same work in 9 days . The days required to finish the work by both of them together.
2436121

A Tt om B 7 oA B Q0 IR IPa1 §1 B IG B B 9 37 T g1 IR har §1 S B ek v Q@ b § - fan i @i

115
16
15

1%

15
2T
15
2%

Correct Ans : C

Subject : General Aptitude

Q.No: 95 Dadra, Nagar and Haveli can do a work in 37, 111 and 333 days, on completing the work they get Rs.2197. What is the difference in Dadra and Haveli's share. (in rupees)

2436129
TR, TR AR gaelt bt 1 Y 37, 111 3R 333 Al A AR Yeha &, I T HA W 3¢ 2197 T4 ITa 1 211 AR gaeh F ey F foba 7 iR 82 (3 )
1352
A
1352
1254
B
1254

C 1055
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1055
1357

1357
Correct Ans : A

Subject : General Aptitude

Q.No: 96 What is the sum of digits of the least number which when divided by 15, 18 and 24 leaves the remainder 8 in each case and is also divisible by 13'?

2436142
I DI A B T@ F ST F1 A R 3 O 15, 18 TU1 24 | Wil F37 R UdS o= # Juwe 8 §9a1 ¢ SR o 13 ¥ fawrsw &2
16
A
16
13
B
13
15
c
15
17
D
17

Correct Ans : D

Subject : General Aptitude

Q.No: 97 On dividing a number by 38, the quotient is 24 and the remainder is 13, the number is:

2436145
T T B 38 F UG FA W URTHS 24 AR A9G 13 U 91 8, O GBI &:
956
A
956
204
B
204
925
c
925
975
D
975

Correct Ans : C

Subject : General Aptitude

Q.No: 98 If sum of 8 consecutive odd numbers is 640 then, find the square of highest number.
2444529

g 8 HANTA favH GBIel &7 AT 640 7 Y, WaY TSI BN &1 @l J1a Piforl

A Jaes
® e
© e
° s

Correct Ans : B

Subject : General Aptitude

Q.No: 99 The sum of six consecutive even numbers of set-A is 402. What is the sum of another set-B of four consecutive numbers whose lowest number is 15 less than double the
2444535 |gwest number of set-A?

: FARTD I @S & U@ TYEI-A FI ART 402 71 TR HHNT Gmadt & TF 3 Td-B H1 AN 1 gIT orge <Aan §8 Sgd-A S JHad T87 & G & 15 $1 82
A 444
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444

442
442

440
440

446
446

C

D

Correct Ans : B
Subject : General Aptitude

Q.No: 100 What should come in place of the question mark ? in the following number series?

2444657
8, 12, 39, 55, ?, 216
Fre el & e & U faes ? & WF W 1 3
8, 12, 39, 55, 2, 216
190
A
190
180
B
180
80
C
80
155
D
155

Correct Ans : B

Subject : General Aptitude
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